H £ 0l & AF & S

20248 =0ila eI DI XIS 0t

Al A

SA ISR
I ACEMEA
e S gee e N INRE g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIg X2 ot 33,502,670 17,994,212 15,508,458
= 1,800,000
== 94,130
Al 21,108,540
H 10,500,000
A SRS 22,124,160 12,967,400 9,156,760
= 1,800,000
Al 9,824,160
H 10,500,000
SHHER = A2+ 10,601,160 8,971,400 1,629,760
= 1,500,000
Al 1,101,160
H 8,000,000
e 28 s 29 202,160 52,400 149,760
201 er2 3| 202,160 52,400 149,760
01 AtR2te|HI 2,160 2,400 A240
Ottt 2225 29 2,160
02 s3=gHl 200,000 50,000 150,000
oty Ex2dEs 29 200,000
AHATHR] DJIBFAIE s XI2kel 310,000 210,000 100,000
201 er23 | 10,000 10,000 0
02 S5=2g4l 10,000 10,000 0
OJHEX JIEAIE T2 10,000
401 A& HIX R0 300,000 200,000 100,000
01 AlZH| 300,000 200,000 100,000
OQHAEX JIEAIE 72 300,000
EtAAEE S Al ZEANY 8,000,000 1,000,000 7,000,000
H 8,000,000
401 AlEHIZ 2 0HbI 8,000,000 1,000,000 7,000,000
H 8,000,000
01 Al&H| 8,000,000 1,000,000 7,000,000
OB A ZAlE ZHAY 8,000,000
H 8,000,000
3 MAHEEI 2FHMFAIE EXAH 1,669,000 525,000 1,144,000
= 1,500,000
Al 169,000
401 Al HIZL S 0HYI 1,669,000 525,000 1,144,000
= 1,500,000
Al 169,000
01 Al&H| 1,667,000 525,000 1,142,000
O T HNAHEEA 2B HMFAIE EXAE 1,667,000
= 1,500,000




A JIEXE

HH: ACEAHER
e S gee e N INRE g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 167,000
03 AlESTHYI 2,000 0 2,000
O = MILHHHI 2SHFAIE XA 2,000
= H2ate 2 EAIFSAME PSR 2 E 420,000 0 420,000
401 Al HIZL 201 420,000 0 420,000
01 Al&HI 420,000 0 420,000
OX= M24Het & S AIZEHAEE X2 ER2{
A2 420,000
SHEETH AP K2 8,223,000 3,496,000 4,727,000
Al 5,723,000
H 2,500,000
LS HEHIXIZ (HF1AE THAAY) 4,315,000 2,800,000 1,515,000
401 Al HIZ R 0HHI 4,315,000 2,800,000 1,515,000
01 AlZ8| 4,310,000 2,800,000 1,510,000
O-=3H MEHIXH 4,310,000
03 Al 20HHI 5,000 0 5,000
Oc-=3H MEHIXH 5,000
AAEHA SEESHHE A8 2,948,000 200,000 2,748,000
Al 448,000
H 2,500,000
401 AIZHIX S0HH 2,948,000 200,000 2,748,000
Al 448,000
H 2,500,000
01 AlZ2H| 2,500,000 200,000 2,300,000
OLIHEHA SHESHHE A 2,500,000
H 2,500,000
02 Zcltl 438,000 0 438,000
O/HE S-Sty A8 438,000
03 Al 20HHI 10,000 0 10,000
OXAHI Se2etdlE A8 10,000
23 YAX? SSIIEAE 75 960,000 496,000 464,000
307 elztol & 310,000 46,000 264,000
02 B HAHE L 310,000 46,000 264,000
0450 XX+ SSIIHAE 5 310,000
401 AlEHIZ S 0HYI 200,000 0 200,000
01 AlZH| 200,000 0 200,000
04z 28I S3IIgAlE 2= 200,000
405 AtaHE = 450,000 450,000
01 T ESFISHI 450,000 450,000
O4z0 g8+ ss)IgAlE 2= 450,000
S BALN =IHMYEX] JIBAIE EXIAY 2,800,000 500,000 2,300,000
= 300,000
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2A: ISR
HE: XYBLI| K
=@t SAJIgsd XE (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 45,000
Al 105,000
02 QIZHAAAIEER 150,000 150,000 0
OALIE AR MESE SAH MY 150,000
& 45,000
Al 105,000
S0 M2 MAPE KR 10,000 10,000
307 212+01™ 10,000 10,000
02 QIZHAAAIHE X 10,000 10,000
OM== HALE Jtd| K& 10,000
MEANEZE 2= KNMY(ZHIZEXH) 336,000 0 336,000
308 AXIHMSOIN 336,000 336,000
13 I 2SO E &R E AL I 336,000 336,000
O&Y ADIESE = KJAAM(ZHIEH
X&) 336,000
S| JI=sAH EXtE RI2AY 21,100 0 21,100
& 6,330
Al 14,770
307 212+01™ 21,100 0 21,100
T 6,330
Al 14,770
02 QIZHAAAIHE X 21,100 0 21,100
OS2I JIsAH Xtz KI2AS 21,100
= 6,330
Al 14,770
SAIY EF Al” 2 FH| O XA 25,000 0 25,000
402 QI2E X201 ™ 25,000 25,000
01 QIZERH2 AN 2 2 (RERITH ) 25,000 25,000
O=s2JIY &5 Al & &l i K& A 25,000
S HAAIE HE XA 300,000 300,000
308 AXISHMSOIA 300,000 300,000
13 I 2SHICHeHE & =AM 300,000 300,000
O=2J|1d HAAE HE X2AS 300,000
S40|d SHEEH 300,000 200,000 100,000
HHTS WIIX XNE ME(ZZHIAEXH) 100,000 0 100,000
308 AXIHMSOIN 100,000 0 100,000
13 SI|2ASHICHEHE A E L EFALH] 100,000 0 100,000
OZHT2 IHIIKX K& AIY EXZ 100,000
EAATHEEEU S3HAl Ast gAX2 (012 E 200,000 200,000 0
X&)
308 AHXIHM SO & 200,000 200,000
13 BI 12 SOICHEH B A ELE AL 200,000 200,000




2A:

JIg X2t

HE: MBI K
Rl SAJ|Y S-S Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEAAMIPZHHl St &5t 5
el 200,000
YA HHI(DIGXIR D) 45,810 48,312 A2,502
JI2ZHI(OIg X&) 45,810 48,312 A2,502
JI2ZHI(OIG X1 45,810 48,312 A2,502
201 =3 27,522 30,024 A2,502
01 At2t2ltl 24,522 27,024 A2,502
oget=ZH| 12,240
C=E 10,282
(OFSESYNRPNRS ol ges RN S ol nges 2,000
02 S3=gHl 3,000 3,000 0
(OF=g=pagestal 3,000
202 04| 14,688 14,688
01 SLHoIH 14,688 14,688
OJ|=g =0 14,688
203 HR=AH] 3,600 3,600
M A2 LRFEI 3,600 3,600
ORNEgE =AY 300,000 x 12 3,600
NS (OIZgXJD) 9,200,000 3,100,000 6,100,000
WEHARZ (OIS X2 1) 9,200,000 3,100,000 6,100,000
SX8EIIZ X 500,000 500,000 0
R I1=sdES 500,000 500,000 0
01 oIsdE=s 500,000 500,000 0
O EII= K& 500,000
S FYII= A 3,400,000 1,400,000 2,000,000
@R IIsdES 3,400,000 1,400,000 2,000,000
0 JIsdEsS 3,400,000 1,400,000 2,000,000
osIHFsgII= NE 3,400,000
Hebi==Xl OIE2SAL XI& 5,300,000 1,200,000 4,100,000
701 JIEtI HSHES 5,300,000 1,200,000 4,100,000
03 SIIHELNANNEHES 5,300,000 1,200,000 4,100,000
OUtH&ti==Xl OIZ3At XI& 5,300,000




